
Level 10 Test answers 

Count backwards 

a) 45, 40, 35, 30, 25, 20, 15 

b)  8 tens and 6 ones = 86 

c)   Double 9 = 18              b) Halve 16 = 8 

d)  162 = 1 hundred, 6 tens and 2 ones 

e)  15 – (7 + 4) = 26 

f)  3 + 8 – 4 = 7 

g)  (5 x 2) + (2 x 3) = 16 

h)  16 ÷ 2 = 8 

i) 14 + 6 = 20 

j) On the back of this sheet write 4 equations that 

equal 12. Use +, -, x, ÷  

k) 17 birds were on a tree. 8 flew away. How many 

left? 9 

l) What is the time? 

Half past 5 or 5.30 

Year 3 

Term 1 

Level 10 Test 

Score:         /15     (4 points for j) 


